EARVAS 221N

111 2FEEE A E S E

i
%
B

;1

1 339

D KB A

P {ERSERE

: 0219
PEE 2 Hf

D AHERE R



R 39 BUIZRRDOAER 111 BB LIS S E

% T EEZE%
EHME - EEgEs £ HHT 1 0219 » BT 1 2
F1H #287

¥ FEWRIE  AAEATEREL - SAREEEES  REREE LSS AT

45 e

[

There are in total 5 sets of questions. Full points will be awarded only based on the appropriate solving process.

(20%) Consider a differentiated duopoly where each firm bears only a constant marginal cost of $50 to produce each
unit of its own products. Suppose firms are engaged in price competition. For the pair of prices p;, i = 1,2, the
quantity demanded for each firm's product can be summarized by the following system:
{ql"(m. p2) =200 — 2p, + p,
G2 (p1. p2) = 200 — 2p, +py
a. (5%) Find the Nash equilibrium price of each firm.
b. (5%) Find the deadweight loss caused by the duopoly.
c. (5%) If the two firms merge into one, find again the prices that will be charged by this merged monopoly.
d. (5%) If the two firms merge into one, find the additional profit the merging can bring to the two firms.

(20%) A monopolist serves two consumers with their individual demands separately as gf (p) = 200 — 3p and

g2 (p) = 200 — 2p when asked a price of p per unit. Suppose it produces with the constant marginal cost of $20

without any other cost.

a. (3%) If the monopoly sells with the same uniform price p to both consumers, find its optimal price.

b. (10%) If the monopoly cannot distinguish the two consumers so that it offers them the same two-part tariff
scheme, A + pgq;, where A is an upfront fixed fee and p is the per unit price. Each consumer then determines
her quantity to buy, g, for { = 1, 2. Find the monopoly’s optimal A and p.

¢. (5%) Find the deadweight loss under the two-part tariff.

(20%) Consider a competitive industry with the market demand Q”(p) = 1,000 — 4p. Each firm produces with

identical cost function C(g) = 400 + 10q + 2. Originally the market is in long run (LR) equilibrium.

a. (3%) Find the LR equilibrium price in this industry.

b. (5%) If the government has imposed a specific tax of $12 per unit on the sellers, find the price paid by the
consumers at the after-tax short run (SR) equilibrium of the market.

c. (3%) If the government has imposed a specific tax of $12 per unit on the sellers, find the price paid by the
consumers at the after-tax LR equilibrium of the market.

d. (5%) Find the deadweight caused by the specific tax at the after-tax LR equilibrium of the market.

(20%) Consider a two-individual (A and B) and two-good (1 and 2) economy. The utility functions are U4 (x;,2;) =

x§ x5 for individual A who has endowments (100, 100) for the two goods and us (x.x3) = xixf for individual B

who has endowment (100, 100) where a, § > 0. Suppose the two markets are both competitive.

a. (10%) Find the condition for xi‘ = xi“ to hold at Pareto set where x,‘f is A’s allocation for commodity k =
L2,

b.  (10%) Find the condition for the relative competitive equilibrium prices Py /P; to be greater than 1.
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5. (20%) Suppose Grace’s utility function over food (F) and cloth (C) is U(F,C) = min(g, C) and her incomeis ¥ =

30 while prices are pp = 2 for food (F) and pe = 2 for cloth (C) respectively. (Assume any commodity can be

purchased in decimal units).

a. (10%) Suppose the government offers Grace a food stamp of 60 units of food which could NOT be resold in the
market. How much additional money should the government also give to Grace along with the food stamp so that
the total effect is equivalent to the food stamp of 60 units of food that could be resold in the market?

b. (5%) If the government only offers Grace money, how much money should the government offer to Grace so
that its effect is equivalent to the 60 units of Food that could NOT be resold in the market?

c. (5%) If the government only offers Grace money, how much money should the government offer to Grace so

that its effect is equivalent to a subsidy of $1 per unit on the food that Grace purchases?




